	Project Manager. Pam Libby						No of b
			•		in a of Figure 1		
		D. N. Higgins, Inc			ing of Florida,		struction Co.,
Revised Bid Tab				Inc.		Inc.	
	Qty	Unit Cost	Total Cost	Unit Cost	Total Cost	Unit Cost	Total Cost
DESCRIPTION							
Mobilization	1	\$45,000.00	\$45,000.00	\$500,000.00	\$500,000.00	\$140,000.00	\$140,000.00
Water Main							
8 in Water Main PVC C-900 DR-18 CL 150	7820	\$90.00	\$703,800.00	\$140.00	\$1,094,800.00		\$539,580.00
8 in Water Main PVC C-900 DR-14 CL 200	365	\$90.00	\$32,850.00	\$142.00	\$51,830.00		\$27,375.00
6 in Water Main PVC C900 DR-18 CL 150	80	\$100.00	\$8,000.00	\$138.00	\$11,040.00	\$100.00	\$8,000.00
6 in Water Main PVC C900 DR-14 CL 200	20	\$110.00	\$2,200.00	\$150.00	\$3,000.00	\$150.00	\$3,000.00
Water Valve Assembly							
8 in Gate Valve (w/box)	26	\$1,500.00	\$39,000.00	\$3,000.00	\$78,000.00	\$2,600.00	\$67,600.00
6 in Gate Valve (w/box)	2	\$1,500.00	\$3,000.00	\$2,850.00	\$5,700.00	\$2,200.00	\$4,400.0
Air Release Valve Assembly	1	\$2,400.00	\$2,400.00	\$5,000.00	\$5,000.00	\$3,500.00	\$3,500.00
Fire Hydrant Assembly	8	\$3,200.00	\$25,600.00	\$4,200.00	\$33,600.00		\$44,000.0
Permanent Blowoff Assembly	2	\$6,800.00	\$13,600.00	\$10,000.00	\$20,000.00	\$3,500.00	\$7,000.0
Permanent Bacteriolgocial Sampling Point	4	\$1,900.00	\$7,600.00	\$5,200.00	\$20,800.00		\$14,000.0
Residential Water Service Connection			. ,				• •
Single Service Cconnection (Long Side)	10	\$2,000.00	\$20,000.00	\$2,800.00	\$28,000.00	\$1,900.00	\$19,000.00
Single Service Connection (Short Side)	14	\$1,200.00	\$16,800.00	\$725.00	\$10,150.00		\$21,000.00
Double Service Connection (Long Side)	46	\$1,700.00	\$78,200.00	\$3,500.00	\$161,000.00		\$85,100.00
Double Service Connection (Short Side)	33	\$900.00	\$29,700.00	\$1,500.00	\$49,500.00		\$72,600.00
Re-route existing residential water service			. ,	. ,	. ,	. ,	. ,
line inside private lot (Detail 13-Sheet C-503)	118	\$1,875.00	\$221,250.00	\$1,500.00	\$177,000.00	\$2,200.00	\$259,600.0
Connection to Existing Non-Residential	_	Ŧ,,	+)	+)	_	+ ,	+,
Service Line							
Connection to Existiang Service Line							
Greystone RV Park	1	\$4,000.00	\$4,000.00	\$5,000.00	\$5,000.00	\$5,500.00	\$5,500.0
Connection to existing backflow assembly		• •,••••••	+ ,	<i><i><i>q</i> = , = = = = = = = = = =</i></i>	<i> </i>	<i></i>	+-,
St. Finnbarr Church	1	\$4,000.00	\$4,000.00	\$5,000.00	\$5,000.00	\$3,750.00	\$3,750.0
Connection to existing commercial meter		<i><i><i>ϕ</i></i> 1,000100</i>	<i><i><i>ϕ</i></i> 1,000100</i>	<i></i>	<i></i>	<i>+0</i> ,. <i>00.00</i>	<i>40,10010</i>
Henderson Creek Clubhouse	1	\$4,000.00	\$4,000.00	\$5,000.00	\$5,000.00	\$5,500.00	\$5,500.0
		<i><i><i></i></i></i>	\$ 1,000.00	\$0,000.00	\$0,000.00	\$0,000.00	<i>40,000.00</i>
Connection to Existing Watermain							
	-					•	

BID # 07-4118 "Henderson Creek Subdivision Water Distribution Improvements" Project Manager: No of notices sent:231

No requesting document:13

No of notices sent:231

No requesting document:13 No of bids:7

Project Manager: , Pam Libby

			i ani Libby				
				ADJ Excavat	ting of Florida,	Akerman Co	nstruction Co.,
Revised Bid Tab		D. N. Hi	ggins, Inc	Inc.		Inc.	
	Qty	Unit Cost	Total Cost	Unit Cost	Total Cost	Unit Cost	Total Cost
Connection to existing 10 in PVC Water							
Main Stub	1	\$3,000.00	\$3,000.00	\$15,000.00	\$15,000.00	\$3,750.00	\$6,000.00
Connection to existing 6 in PVC Water Main							
(Detail Sheet No 13Sheet 503)	1	\$3,000.00	\$3,000.00	\$15,000.00	\$15,000.00	\$5,500.00	\$5,500.00
Grout and Abandon existing 6 in watermain	3380	\$6.00	\$20,280.00	\$7.00	\$23,660.00	\$8.00	\$27,040.00
TOTAL BID			\$1,287,280.00		\$2,318,080.00		\$1,369,045.00
			¢1,201,200100		\$2,010,000100		\$1,000,010100
		N/		N N		V	
Addendum Acknowledged		Y Y		Y Y		Y Y	
Material Manufactures		Y		Y		Y	
List Subcontractors		Y		Y		Y	
		Y		Y Y		Y Y	
Statement of Experience of Bidder		Y Y		Y Y		Y Y	
Trench Saftey Act				-		-	
Bid Bond		Y		Y		Y	
Additional Contact Information		Y		Y		Y	
Purchasing Agent: Brenda Brilhart							
Witness: Courtney Grosman							

BID # 07-4118 "Henderson Creek Subdivision Water Distribution Improvements" Project Manager: No of notices sent:231 No requesting document:13 No of bids:7

Pam Libby

					Tam Libby			
	Mitchell & Stark		Alliance Steel					
Construction Co., Inc.		Construction, Inc.			ruction, Inc.	John Carlo, Inc.		
Unit Cost	Total Cost	Unit Cost	Total Cost	Unit Cost	Total Cost	Unit Cost	Total Cost	
\$100,000.00	\$100,000.00	\$93,100.00	\$93,100.00	\$35,000.00	\$35,000.00	\$153,356.49	\$153,356.49	
	\$312,800.00	\$50.00	\$391,000.00	\$60.50	\$473,110.00	\$92.35	\$722,177.00	
\$44.00	. ,	\$215.00	\$78,475.00	\$52.85	\$19,290.25	\$28.00	\$10,220.00	
\$39.00		\$34.00	\$2,720.00	\$44.00	\$3,520.00	\$23.00	\$1,840.00	
\$43.00	\$860.00	\$210.00	\$4,200.00	\$44.00	\$880.00	\$22.50	\$450.00	
\$1,230.00	\$31,980.00	\$1,800.00	\$46,800.00	\$1,025.00	\$26,650.00	\$2,870.00	\$74,620.00	
\$950.00	\$1,900.00	\$1,450.00	\$2,900.00	\$740.00	\$1,480.00	\$2,520.00	\$5,040.00	
\$1,520.00		\$3,600.00	\$3,600.00	\$997.00	\$997.00	\$6,600.00	\$6,600.00	
\$4,070.00		\$4,400.00	\$35,200.00	\$2,450.00	\$19,600.00	\$4,950.00	\$39,600.00	
\$6,760.00		\$7,900.00	\$15,800.00	\$6,200.00	\$12,400.00	\$8,800.00	\$17,600.00	
\$1,180.00	\$4,720.00	\$2,150.00	\$8,600.00	\$1,110.00	\$4,440.00	\$2,550.00	\$10,200.00	
\$1,380.00	\$13,800.00	\$2,050.00	\$20,500.00	\$840.00	\$8,400.00	\$1,850.00	\$18,500.00	
\$520.00	\$7,280.00	\$1,100.00	\$15,400.00	\$640.00	\$8,960.00	\$1,100.00	\$15,400.00	
\$1,670.00	\$76,820.00	\$2,300.00	\$105,800.00	\$1,290.00	\$59,340.00	\$2,300.00	\$105,800.00	
\$660.00	\$21,780.00	\$1,500.00	\$49,500.00	\$1,050.00	\$34,650.00	\$1,450.00	\$47,850.00	
\$1,160.00	\$136,880.00	\$1,300.00	\$153,400.00	\$300.00	\$35,400.00	\$1,150.00	\$135,700.00	
\$2,030.00	\$2,030.00	\$4,700.00	\$4,700.00	\$500.00	\$500.00	\$1,500.00	\$1,500.00	
\$2,320.00	\$2,320.00	\$4,800.00	\$4,800.00	\$2,400.00	\$2,400.00	\$1,600.00	\$1,600.00	
\$2,320.00	\$2,320.00	\$4,900.00	\$4,900.00	\$1,900.00	\$1,900.00	\$2,700.00	\$2,700.00	
			-	-	-			

BID # 07-4118 "Henderson Creek Subdivision Water Distribution Improvements" Project Manager: No of notices sent:231 No requesting document:13 No of bids:7

Pam Libby

Mitchell & Stark		Alliance Steel						
Construction Co., Inc.		Construction, Inc.			ruction, Inc.	John Carlo, Inc.		
Unit Cost	Total Cost	Unit Cost	Total Cost	Unit Cost	Total Cost	Unit Cost	Total Cost	
\$2,210.00	\$2,210.00	\$5,800.00	\$5,800.00	\$2,100.00	\$2,100.00	\$5,230.00	\$5,230.00	
\$2,340.00	\$2,340.00	\$5,500.00	\$5,500.00	\$2,500.00	\$2,500.00	\$4,850.00	\$4,850.00	
\$7.50	\$25,350.00	\$8.00	\$27,040.00	\$6.38	\$21,564.40	\$18.00	\$60,840.00	
	. ,	· · ·			. ,		. ,	
	\$812,170.00		\$1,079,735.00		\$775,081.65		\$1,441,673.49	
	,		* · , · · · · · · · · · · · · · · · · · · ·		<i>↓··········</i>		<i>•••••••••••••••••••••••••••••••••••••</i>	
Y		Y		Y		Y		
Y		Y		Y		Y		
Y		Y		Y		Y		
Y		Y		Y		Y		
Y		Y		Y		Y		
Y		Y		Y		Y		
Y		Y		Y		Y		
Y		Y		Y		Y		